
FIT448 - FUEL INJ. TESTER (NOT CIS/TBI

Parts Breakdown



Item: FIT448

Description: FUEL INJ. TESTER (NOT CIS/TBI

 VENDOR - HOFFMAN [STAR PRODUCTS] ****SPECIAL NOTE - Not Shown: Instruction Manual - item # 29.Notes:
\r\nNot Shown: Plastic Box - item # 30.

Figure No Part Number Description No. Reqd Warranty Code

0 BD41304 QUICK-COUPLER 1/8 IN FNPT 1 X

0 BD74476 6' HOSE F/FUEL INJ F/ROAD TES 1 D

1 FIT14G GAUGE 1 D

1 BD41458 FIT13A SNAP-IN LENS 2-1/2 IN 1 D

2 74440 2-1/2 GAUGE & HOSE ASSY ONLY 1 D

3 BD41303 COUPLER 1 D

3 74448 HOSE W/QC & FITTING 16 LONG 1 D

4 BD74436 5PC BANJO BOLT ADPT SET 1 D

5 BD74434 M12 X 1.25 BANJO BOLT W/ WASHR 1 D

6 BD74435 M12 X 1.5 BANJO BOLT ADAPTER 1 D

7 BD74433 M10 X 1.0 BANJO BOLT FIT448 1 D

8 BD74432 M8 - 1.0 BANJO BOLT F/ FIT443A 1 X

9 BD74431 M6 X 1.0 BANJO BOLT ADAPTER 1 X

10 71318 ADAPTER F/STD SCHRADER VALVE 1 D

11 71319 ADAPTER F/SM SCHRADER VALVE ( 1 D

12 71313 FORD ADAPTER-EFI-METAL 1 D

12 41312 QUICK COUPLER PLUG-1/8 MNPT 1 X

13 BD71314 FORD ADAPTER (CFI) 1 X

14 BD71317 CONNECTER 1 X

15 BD71308 GEO STORM & ISUZU ADPT 1 D

16 BD41312 QUICK COUPLER 1/8 MNPT 1 X

16 BD41311 COUPLER W/HOSE BARB 1 X

17 BD34021 2 IN CUT HOSE-1/4 IN ID 1 D

18 BD35031 3 IN CUT HOSE-5/16 ID 1 X

19 BD41152 HOSE CLAMP 2 D

20 74437 REPAIR PARTS KIT F/FIT SERIES 1 X

21 41028W SCHRADER WASHER (5PK) 1 X

21 BD71307 DEPRESSOR & GASKET 1 X

22 41853W WASHER F/SCHRADER VALVE (5PK) 1 X

26 BD74437 REPAIR PACKAGE 1 T

27 43051OR O-RING F/HONDA ADAPT. (5PK) 1 X

28 BD41753 5 PK VALVE CORE 12 X



29 BD42438 FUEL INJECTION ADAPTER GUIDE B 1 X

30 BD52007 BLOWMOLD BOX F/FIT446/447/448 1 D


